
Time: 30 Minutes Paper Math 8 (T-1) Total Marks: 25

1st Month, 4th Week, 6th Day Monthly Test Sub-domain (I,II,III)

Q.1. Choose the correct options.   (1x13 = 13)   ŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,XXXX
(i)  is a _______ number: °°°°ŠŠŠŠìììì:::: _______ ZZZZqqqq----

(a) real Ç (b) rational  **ê

(c) irrational )**ê (d) recurring           áZà
(ii)  Which is a property?  ttttÃÃÃÃyyyyÏÏÏÏ{{{{¤¤¤¤ìììì????

(a) trichotomy      �O (b) transitive 5e$

(c) multiplication  ¢! (d) both a & b   ŠzâV b Zzg a

(iii)Which is a property?   a > b then a + c > b + c ttttÃÃÃÃyyyyÏÏÏÏ{{{{¤¤¤¤ìììì????

(a) division            iÏŠnÛo (b) multiplication  ¢!
(c) addition        R (d) subtraction       ¸j
(iv) Round the number 10.4579 (3s.f.) to the given degree of accuracy.

ŠŠŠŠggggzzzzZZZZëëëëyyyyÎÎÎÎVVVVJJJJ----öööözzzzŠŠŠŠ™™™™,,,,XXXX 3ÃÃÃÃ 10.4579

(a) 10.4 (b) 10.56 (c) 10.5 (d) 10.567

(v) Find the number of significant figures 25901 is:

ÆÆÆÆZZZZëëëëyyyyÎÎÎÎVVVVÅÅÅÅ®®®®ZZZZŠŠŠŠ¥¥¥¥xxxx™™™™,,,,XXXX 25901

(a) 4 s.f (b) 5 s.f (c) 3 s.f (d) 2 s.f

(vi)Round the 35.4687 (4s.f.) to the given degree of accuracy.

ŠŠŠŠggggzzzzZZZZëëëëyyyyÎÎÎÎVVVVJJJJ----öööözzzzŠŠŠŠ™™™™,,,,XXXX 4ÃÃÃÃ 35.4687 ŠŠŠŠ~~~~ˆ̂̂̂gggg¶¶¶¶
(a) 35.46 (b) 35.56 (c) 35.47 (d) 35.57

(vii) Round the 56.9832 (2d.p.) to the given degree of accuracy.

ŠŠŠŠggggzzzzZZZZ((((ggggttttJJJJ----öööözzzzŠŠŠŠ™™™™,,,,XXXX 2ÃÃÃÃ 56.9832

(a) 56.984 (b) 56.972 (c) 56.98 (d) 56.934

(viii)

(a) (b) (c) (d)

(ix)What is the square root of 2500? »»»»____....ggggHHHHìììì???? 2500

(a) 50 (b) 25 (c) 45 (d) 60

(x) The square root of  is: »»»»____....ggggìììì::::

(a) (b) (c) (d)

(xi) Cube root of 9261 is: »»»»____....ggggZZZZÅÅÅÅ))))½½½½ššššïïïï
EEEE

ìììì:::: 9261

(a) 19 (b) 23 (c) 25 (d) 21

(xii)The number of digits in the square root of 66564 is:

ÆÆÆÆ____....gggg~~~~yyyyÎÎÎÎVVVVÅÅÅÅ®®®®ZZZZŠŠŠŠìììì:::: 66564

(a) 6 (b) 5 (c) 4 (d) 3

(xiii)  

(a) 0.02 (b) 2.0 (c) 0.2 (d) 20

Q.2. Answers the following questions.(2×4=8) ŠŠŠŠgggg`̀̀̀ffffssssÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ!!!!****]]]]ŠŠŠŠ,,,,XXXX
(i) Identify which property is used in the following.

Šg`fs~ZEwƒäzZà**',Z',~)))zZ](Å¶K0+„™,X
(a) (b)

(ii)The total number of students in a school is 1250. Round the

number in 2 significant figures.

ŠgzZëyÎVJ-özŠ™,X 2 C÷X 1250 Zq-jw~À

(iii) Find the cube root of . _.gZÅ)½šï
E

¥x™,X »
(iv) Find the square root of 13689 by division method.

»_.g&+g=„¥x™,X 13689

Q.3.Calculate approx imated value accurate value and

approximation errors of . (1×4=4)
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